
❈❧❛ss❡ ❞❡ s❡❝♦♥❞❡ ✻ ✶✵ ♦❝t♦❜r❡ ✷✵✶✸

❉❡✈♦✐r ▼❛t❤é♠❛t✐q✉❡s N
o ✷ ✭✶❤✮

✵ ◆♦♠ ❡t ♣ré♥♦♠ ✿

✶ ✶✱✺ ♣♦✐♥t

❊❝r✐r❡ à ❧✬❛✐❞❡ ❞✬✐♥t❡r✈❛❧❧❡s ❧❡s ❡♥s❡♠❜❧❡s ❞❡ ré❡❧s x ✈ér✐✜❛♥t ❧❡s ✐♥é❣❛❧✐tés s✉✐✈❛♥t❡s✳

■♥é❣❛❧✐té ■♥t❡r✈❛❧❧❡

1 < x ≤ 3; I =

x < 8; I =

x ≥ −6; I =

−1 ≤ x ≤ 7 ♦✉ x > 4; I =

−6 < x ≤ −2 ♦✉ x ≥ 2; I =

−3 < x ≤ 7 ❡t x < 0; I =

✷ ✶✱✺ ♣♦✐♥t

❖♥ ❝♦♥s✐❞èr❡ ❧❛ ✜❣✉r❡ ❝✐✲❝♦♥tr❡✳
✶✳ ❉ét❡r♠✐♥❡r ❧❡s ❝♦♦r❞♦♥♥é❡s ❞❡ A✱ B ❡t C ❞❛♥s ❧❡ r❡♣èr❡

(O,I,J) ✿ ✈♦✉s ❝♦♠♣❧ét❡r❡③ ✿

❖♥ ❛ A( ; ) ❀ B( ; ) ❀ C( ; ) ❀

✷✳ ❉ét❡r♠✐♥❡r ❧❡s ❝♦♦r❞♦♥♥é❡s ❞❡ A✱ B ❡t C ❞❛♥s ❧❡ r❡♣èr❡
(I,K,C) ✿ ✈♦✉s ❝♦♠♣❧ét❡r❡③ ✿

❖♥ ❛ A( ; ) ❀ B( ; ) ❀ C( ; ) ❀

✸✳ ▲❡s ♣♦✐♥ts O,I,K ❢♦r♠❡♥t✲✐❧s ✉♥ r❡♣èr❡ ❞✉ ♣❧❛♥ ❄ ✭❥✉s✐✲
t✐✜❡③✮

O

J

I

A

B

C

K

L

✸ ✶✱✺ ♣♦✐♥t

❉ét❡r♠✐♥❡r ❧✬❡♥s❡♠❜❧❡ ❞❡ ❞é✜♥✐t✐♦♥ ❞❡s ❢♦♥❝t✐♦♥s s✉✐✈❛♥t❡s ✿

f(x) =
3

3x− 2
g(x) =

√
2− 3x h(x) = 3x2 +

√
x

✹ ✸ ♣♦✐♥ts

❙♦✐t ❧❛ ❢♦♥❝t✐♦♥ f ❞é✜♥✐❡ s✉r R ♣❛r f(x) = 2x2 + 4✳

✶✳ ◗✉❡❧❧❡ ❡st ❧✬✐♠❛❣❡ ❞❡ ✸ ♣❛r f ❄

✷✳ ◗✉❡❧❧❡ ❡st ❧✬✐♠❛❣❡ ❞❡ ✲✷ ♣❛r f ❄

✸✳ ❉ét❡r♠✐♥❡r ❧❡ ♦✉ ❧❡s ❛♥té❝é❞❡♥ts ❞❡ ✻ ♣❛r f ✳

✹✳ ❉ét❡r♠✐♥❡r ❧❡ ♦✉ ❧❡s ❛♥té❝é❞❡♥ts ❞❡ ✷ ♣❛r f ✳

✺ ✷ ♣♦✐♥ts

❘és♦✉❞r❡ ❞❛♥s R ✿ (x+ 1)2 = 4✳



✻ ✶✱✺ ♣♦✐♥t

❖♥ ❝♦♥s✐❞èr❡ ❧✬❛❧❣♦r✐t❤♠❡ ❝✐✲❞❡ss♦✉s ✿

❆❧❣♦r✐t❤♠❡ ✶✿ ❈❛❧❝✉❧ ❞✬✐♠❛❣❡

✶ ❱❛r✐❛❜❧❡s

✷ x ❡st ✉♥ ré❡❧❀

✸ y ❡st ✉♥ ré❡❧❀

✹ ❞é❜✉t

✺ ▲✐r❡ ✿ x❀

✻ y ← x− 3❀

✼ s✐ y < 0 ❛❧♦rs

✽ y ← −y❀

✾ ✜♥

✶✵ y ← y − 2❀

✶✶ ❆✣❝❤❡r ✿ y❀

✶✷ ✜♥

❉ét❡r♠✐♥❡r ❧❛ ✈❛❧❡✉r ❞❡ y ❛✣❝❤é❡ ♣❛r ❧✬❛❧❣♦r✐t❤♠❡ ❧♦rsq✉❡ ❧✬✉t✐❧✐s❛t❡✉r ❝❤♦✐s✐t ✭ré♣♦♥❞r❡ s✉r ❧❡ s✉❥❡t✮ ✿

❛✳ x = 5 ❜✳ x = 3 ❝✳ x = 2

✼ ✾ ♣♦✐♥ts

▲❡s ❝♦✉r❜❡s r❡♣rés❡♥t❛t✐✈❡s Cf ❡t Cg ❞❡ ❞❡✉① ❢♦♥❝t✐♦♥s f ❡t g s♦♥t ❞♦♥♥é❡s ❝✐✲❞❡ss♦✉s ✿

1

1

0
C f

Cg

❘é♣♦♥❞r❡ ❛✉① q✉❡st✐♦♥s s✉✐✈❛♥t❡s ❛✈❡❝ ❧❛ ♣ré❝✐s✐♦♥ ♣❡r♠✐s❡ ♣❛r ❧❛ ✜❣✉r❡✳

✶✳ ❉ét❡r♠✐♥❡r ❧❡s ❡♥s❡♠❜❧❡s ❞❡ ❞é✜♥✐t✐♦♥ Df ❡t Dg ❞❡ f ❡t g✳

✷✳ ❉ét❡r♠✐♥❡r ❧❡s ✐♠❛❣❡s ♣❛r f ❞❡ ✲✷ ❀✲✶ ❀✵ ❀✶ ❡t ✷✳

✸✳ ❉ét❡r♠✐♥❡r ❧❡s ✐♠❛❣❡s ♣❛r g ❞❡ ✲✶ ❀✵ ❀✶ ❀✸ ❡t ✹✳

✹✳ ❉ét❡r♠✐♥❡r ❧❡s ❛♥té❝é❞❡♥ts ❞❡ 1 ♣❛r f ✳ ❱♦✉s ❥✉st✐✜❡r❡③ ✈♦tr❡ ré♣♦♥s❡ ♣❛r ✉♥❡ ♣❤r❛s❡✳

✺✳ ❉ét❡r♠✐♥❡r ❧❡s ❛♥té❝é❞❡♥ts ❞❡ 1 ♣❛r g✳

✻✳ ❘és♦✉❞r❡ ❣r❛♣❤✐q✉❡♠❡♥t ❧✬✐♥éq✉❛t✐♦♥ f(x) ≥ 2✳

✼✳ ❘és♦✉❞r❡ ❣r❛♣❤✐q✉❡♠❡♥t ❧✬✐♥éq✉❛t✐♦♥ g(x) ≥ 0✳

✽✳ ❘és♦✉❞r❡ ❣r❛♣❤✐q✉❡♠❡♥t ❧✬✐♥éq✉❛t✐♦♥ f(x) = g(x)✳

✾✳ ❘és♦✉❞r❡ ❣r❛♣❤✐q✉❡♠❡♥t ❧✬✐♥éq✉❛t✐♦♥ f(x) ≤ 1✳



❈❧❛ss❡ ❞❡ s❡❝♦♥❞❡ ✻ ✶✵ ♦❝t♦❜r❡ ✷✵✶✸

❉❡✈♦✐r ▼❛t❤é♠❛t✐q✉❡s N
o ✷ ✭✶❤✮

✵ ◆♦♠ ❡t ♣ré♥♦♠ ✿

✶ ✶✱✺ ♣♦✐♥t

❊❝r✐r❡ à ❧✬❛✐❞❡ ❞✬✐♥t❡r✈❛❧❧❡s ❧❡s ❡♥s❡♠❜❧❡s ❞❡ ré❡❧s x ✈ér✐✜❛♥t ❧❡s ✐♥é❣❛❧✐tés s✉✐✈❛♥t❡s✳

■♥é❣❛❧✐té ■♥t❡r✈❛❧❧❡

x < −2; I =

1 < x ≤ 3; I =

x ≥ −2; I =

−6 < x ≤ −2 ♦✉ x ≥ 2; I =

−3 ≤ x ≤ 5 ♦✉ x > 4; I =

−3 < x ≤ 5 ❡t x < 1; I =

✷ ✶✱✺ ♣♦✐♥t

❖♥ ❝♦♥s✐❞èr❡ ❧❛ ✜❣✉r❡ ❝✐✲❝♦♥tr❡✳
✶✳ ❉ét❡r♠✐♥❡r ❧❡s ❝♦♦r❞♦♥♥é❡s ❞❡ A✱ B ❡t C ❞❛♥s ❧❡ r❡♣èr❡

(O,I,J) ✿ ✈♦✉s ❝♦♠♣❧ét❡r❡③ ✿

❖♥ ❛ A( ; ) ❀ B( ; ) ❀ C( ; ) ❀

✷✳ ❉ét❡r♠✐♥❡r ❧❡s ❝♦♦r❞♦♥♥é❡s ❞❡ A✱ B ❡t C ❞❛♥s ❧❡ r❡♣èr❡
(I,K,C) ✿ ✈♦✉s ❝♦♠♣❧ét❡r❡③ ✿

❖♥ ❛ A( ; ) ❀ B( ; ) ❀ C( ; ) ❀

✸✳ ▲❡s ♣♦✐♥ts O,I,K ❢♦r♠❡♥t✲✐❧s ✉♥ r❡♣èr❡ ❞✉ ♣❧❛♥ ❄ ✭❥✉s✐✲
t✐✜❡③✮

O

J

I

A

B

C

K

L

✸ ✶✱✺ ♣♦✐♥t

❉ét❡r♠✐♥❡r ❧✬❡♥s❡♠❜❧❡ ❞❡ ❞é✜♥✐t✐♦♥ ❞❡s ❢♦♥❝t✐♦♥s s✉✐✈❛♥t❡s ✿

f(x) =
3

7x+ 2

g(x) =
√
x+ 7

h(x) = 2x2 + 3 +
√
x

✹ ✸ ♣♦✐♥ts

❙♦✐t ❧❛ ❢♦♥❝t✐♦♥ f ❞é✜♥✐❡ s✉r R ♣❛r f(x) = 3x2 − 4✳

✶✳ ◗✉❡❧❧❡ ❡st ❧✬✐♠❛❣❡ ❞❡ ✶ ♣❛r f ❄

✷✳ ◗✉❡❧❧❡ ❡st ❧✬✐♠❛❣❡ ❞❡ ✲✷ ♣❛r f ❄

✸✳ ❉ét❡r♠✐♥❡r ❧❡ ♦✉ ❧❡s ❛♥té❝é❞❡♥ts ❞❡ ✽ ♣❛r f ✳

✹✳ ❉ét❡r♠✐♥❡r ❧❡ ♦✉ ❧❡s ❛♥té❝é❞❡♥ts ❞❡ ✲✺ ♣❛r f ✳

✺ ✷ ♣♦✐♥ts

❘és♦✉❞r❡ ❞❛♥s R ✿ (x+ 3)2 = 4✳



✻ ✶✱✺ ♣♦✐♥t

❖♥ ❝♦♥s✐❞èr❡ ❧✬❛❧❣♦r✐t❤♠❡ ❝✐✲❞❡ss♦✉s ✿

❆❧❣♦r✐t❤♠❡ ✷✿ ❈❛❧❝✉❧ ❞✬✐♠❛❣❡

✶ ❱❛r✐❛❜❧❡s

✷ x ❡st ✉♥ ré❡❧❀

✸ y ❡st ✉♥ ré❡❧❀

✹ ❞é❜✉t

✺ ▲✐r❡ ✿ x❀

✻ y ← x+ 3❀

✼ s✐ y < 0 ❛❧♦rs

✽ y ← −y❀

✾ ✜♥

✶✵ y ← y − 2❀

✶✶ ❆✣❝❤❡r ✿ y❀

✶✷ ✜♥

❉ét❡r♠✐♥❡r ❧❛ ✈❛❧❡✉r ❞❡ y ❛✣❝❤é❡ ♣❛r ❧✬❛❧❣♦r✐t❤♠❡ ❧♦rsq✉❡ ❧✬✉t✐❧✐s❛t❡✉r ❝❤♦✐s✐t ✭ré♣♦♥❞r❡ s✉r ❧❡ s✉❥❡t✮ ✿

❛✳ x = 5 ❜✳ x = −3 ❝✳ x = −5

✼ ✾ ♣♦✐♥ts

▲❡s ❝♦✉r❜❡s r❡♣rés❡♥t❛t✐✈❡s Cf ❡t Cg ❞❡ ❞❡✉① ❢♦♥❝t✐♦♥s f ❡t g s♦♥t ❞♦♥♥é❡s ❝✐✲❞❡ss♦✉s ✿

1

1

0
C f

Cg

❘é♣♦♥❞r❡ ❛✉① q✉❡st✐♦♥s s✉✐✈❛♥t❡s ❛✈❡❝ ❧❛ ♣ré❝✐s✐♦♥ ♣❡r♠✐s❡ ♣❛r ❧❛ ✜❣✉r❡✳

✶✳ ❉ét❡r♠✐♥❡r ❧❡s ❡♥s❡♠❜❧❡s ❞❡ ❞é✜♥✐t✐♦♥ Df ❡t Dg ❞❡ f ❡t g✳

✷✳ ❉ét❡r♠✐♥❡r ❧❡s ✐♠❛❣❡s ♣❛r f ❞❡ ✲✷ ❀✲✶ ❀✵ ❀✶ ❡t ✸✳

✸✳ ❉ét❡r♠✐♥❡r ❧❡s ✐♠❛❣❡s ♣❛r g ❞❡ ✲✶ ❀✵ ❀✶ ❀✸ ❡t ✲✷✳

✹✳ ❉ét❡r♠✐♥❡r ❧❡s ❛♥té❝é❞❡♥ts ❞❡ 1 ♣❛r f ✳ ❱♦✉s ❥✉st✐✜❡r❡③ ✈♦tr❡ ré♣♦♥s❡ ♣❛r ✉♥❡ ♣❤r❛s❡✳

✺✳ ❉ét❡r♠✐♥❡r ❧❡s ❛♥té❝é❞❡♥ts ❞❡ 1 ♣❛r g✳

✻✳ ❘és♦✉❞r❡ ❣r❛♣❤✐q✉❡♠❡♥t ❧✬✐♥éq✉❛t✐♦♥ f(x) ≥ 2✳

✼✳ ❘és♦✉❞r❡ ❣r❛♣❤✐q✉❡♠❡♥t ❧✬✐♥éq✉❛t✐♦♥ g(x) ≥ 0✳

✽✳ ❘és♦✉❞r❡ ❣r❛♣❤✐q✉❡♠❡♥t ❧✬✐♥éq✉❛t✐♦♥ f(x) = g(x)✳

✾✳ ❘és♦✉❞r❡ ❣r❛♣❤✐q✉❡♠❡♥t ❧✬✐♥éq✉❛t✐♦♥ f(x) ≤ 1✳


